
৪২ তম             -      ম              

 

১। 

What is the correct indirect form of He said, "You had better see a doctor" 

(ক) 

He advised him to see a doctor 

(খ) 

He advised that he should see a doctor 

(গ) 

He suggested that he had seen a doctor 

(ঘ) 

He proposed to see a doctor 

     ক। He advised him to see a doctor 

২। 

Identify the word that remains same in plural form: 

(ক) 

deer 

(খ) 

horse 

(গ) 

elephant 

(ঘ) 

tiger 

     ক। deer 

৩। 

                    ? 

(ক) 
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(খ) 

  খ  য 

(গ) 

   

(ঘ) 

     

     ঘ।      

৪। 

     ICE : COLDNESS হ , ত   EARTH: ? 

(ক) 

weight 

(খ) 

jungle 

(গ) 

sea 

(ঘ) 

Gravity 

     ঘ। Gravity 

৫। 

              হ          ত '   ম      হ  '      ত  ত    ? 

(ক) 

 গ   ল 

(খ) 

     ল 

(গ) 

     ল 

(ঘ) 
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      ল 

     গ।      ল 

৬। 

IUCN        হ            - 

(ক) 

             ক   

(খ) 

     গ   ক   

(গ) 

  ক   ক         ক   

(ঘ) 

                 ক   

     খ।      গ   ক   

৭। 

           ম    ম         "Thirty years' war"     ম       ? 

(ক) 

           , ১৯১৯ 

(খ) 

       ল            , ১৬৪৮ 

(গ) 

           , ১৭৮৩ 

(ঘ) 

ল         , ১৯২৩ 

     খ।        ল            , ১৬৪৮ 

৮। 

P(A) = 2, P(B) = 2/3; A   B       হ   P(C) = ত? 

(ক) 

3/4 
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(খ) 

2/3 

(গ) 

1/3 

(ঘ) 

1/4 

     ক। 3/4 

৯। 

Which word is correct? 

(ক) 

Furnitures 

(খ) 

Informations 

(গ) 

Sceneries 

(ঘ) 

Proceeds 

     ঘ। Proceeds 

১০। 

ম      ত         তহ               ত হ - 

(ক) 

২      ২০২০ 

(খ) 

২৫          ২০২০ 

(গ) 

৩০    ল ২০২০ 

(ঘ) 

২৯         ২০২০ 

     ঘ। ২৯         ২০২০ 
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১১। 

5+8+11+14+-------          ত তম    302 

(ক) 

60       

(খ) 

70       

(গ) 

90       

(ঘ) 

100       

     ঘ। 100       

১২। 

৩০   , ম,  থ         ত               থ   ২      ম             । 

          ত     ত        ত ত হ         থ   ১      ম   ম    ত। 

          ত  ত    ? 

(ক) 

৪  ক.  ./ঘ   

(খ) 

৫  ক.  ./ঘ   

(গ) 

৬  ক.  ./ঘ   

(ঘ) 

৭.৫  ক.  ./ঘ   

     গ। ৬  ক.  ./ঘ   

১৩। 

                       ? 

(ক) 
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(খ) 

       

(গ) 

    ল   

(ঘ) 

     ল 

     ঘ।      ল 

১৪। 

"D8 Organization for Economic Cooperation”    D8      ম            

   থ        ত হ  ? 

(ক) 

      

(খ) 

  ক  

(গ) 

       

(ঘ) 

     ল 

     খ।   ক  

১৫। 

To doctor an animal means: 

(ক) 

to treat it 

(খ) 

to sterilize it 

(গ) 

to poison it 

(ঘ) 

to cure it 
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     খ। to sterilize it 

১৬। 

                        ? 

(ক) 

          ক   

(খ) 

  খ   ল ল ক    

(গ) 

            

(ঘ) 

                   

     গ।             

১৭। 

                 ম     ম              ত                   ত? 

(ক) 

১৩৬ 

(খ) 

১৩৭ 

(গ) 

১৩৮ 

(ঘ) 

১৪০ 

     খ। ১৩৭ 

১৮। 

১৯৪৮-১৯৫২                      ম  '         '  হ                

         হ ত ? 

(ক) 

২৫             
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(খ) 

১১           

(গ) 

১১         

(ঘ) 

২৫       ল 

     গ। ১১         

১৯। 

             ত               ত        হ              ? 

(ক) 

ক          

(খ) 

    য 

(গ) 

  ল   

(ঘ) 

             ক      

     গ।   ল   

২০। 

১৯৭১      ম               ত         ত          ম    - 

(ক) 

      ল  

(খ) 

   ল     

(গ) 

        

(ঘ) 

        ক 
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     ক।       ল  

২১। 

    ত                                    (Civil Service Day)  হ     

    ত হ ? 

(ক) 

২১    ল 

(খ) 

২        

(গ) 

২৬          

(ঘ) 

১০    

     ক। ২১    ল 

২২। 

  ত         ত                 ত                         হ ? 

(ক) 

২         

(খ) 

৮         

(গ) 

৮       

(ঘ) 

৭    ল 

     ক। ২         

২৩। 

‘    ’                ত   ? 

(ক) 
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(খ) 

    

(গ) 

      

(ঘ) 

   ক  

     ঘ।    ক  

২৪। 

১৯৭১      'The Concert for Bangladesh'    থ        ত হ ? 

(ক) 

      

(খ) 

কলক    

(গ) 

ল   

(ঘ) 

       ক 

     ঘ।        ক 

২৫। 

               ম   ত    ? 

(ক) 

       খ   

(খ) 

         ল গ   

(গ) 

ল   ক     

(ঘ) 

       ল  
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     ঘ।        ল  

২৬। 

ম                       ? 

(ক) 

              

(খ) 

              ক        

(গ) 

ক        

(ঘ) 

         ক     

     গ। ক        

২৭। 

Sustainable Development Goals (SDG)     ? 

(ক) 

১৩    

(খ) 

১৫    

(গ) 

১৭    

(ঘ) 

৩১    

     গ। ১৭    

২৮। 

                 ? 

(ক) 

        ল       ক        ক       

(খ) 
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  ! য      খ       খ        

(গ) 

 ক     ঋ  ক       

(ঘ) 

                      

     গ।  ক     ঋ  ক       

২৯। 

              ৮০০০               ।                  ২.৫৬  ম        

   ১.২৫  ম   ।                ত   ত? 

(ক) 

১.৫       

(খ) 

২.৫       

(গ) 

৩       

(ঘ) 

৩.৫       

     খ। ২.৫       

৩০। 

The word 'flying' in the sentence 'Look at the flying bird' is a: 

(ক) 

gerund 

(খ) 

participle 

(গ) 

verbal noun 

(ঘ) 

gerundial infinitive 

     খ। participle 
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৩১। 

                থ   - 

(ক) 

      ,     য     

(খ) 

    ,  ল ক   

(গ) 

     ,       

(ঘ) 

    ,   ল  

     গ।      ,       

৩২। 

Identify the determiner in the sentence “Bring me that book” 

(ক) 

bring 

(খ) 

me 

(গ) 

that 

(ঘ) 

book 

     গ। that 

৩৩। 

     ত      ম                         থ     ত                  

         ? 

(ক) 

২০  গ  ২০২০ 

(খ) 

১৯        ২০২০ 
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(গ) 

১৮        ২০২০ 

(ঘ) 

১৫   ল   ২০২০ 

     খ। ১৯        ২০২০ 

৩৪। 

                       ত? ৩, ৯, ২৭, ৮১, ....? 

(ক) 

২৪১ 

(খ) 

২৪৩ 

(গ) 

২৪৫ 

(ঘ) 

২৪৭ 

     খ। ২৪৩ 

৩৫। 

Global Vaccine Summit      ত হ - 

(ক) 

৫    ২০২০ 

(খ) 

৪     ২০২০ 

(গ) 

৬   ল   ২০২০ 

(ঘ) 

৮  গ  ২০২০ 

     খ। ৪     ২০২০ 

৩৬। 
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WIPO               থ       ত ? 

(ক) 

       

(খ) 

     

(গ) 

       ক 

(ঘ) 

              

     ক।        

৩৭। 

“A Passage to India” is written by: 

(ক) 

E.M. Forster 

(খ) 

Nirad Chaudhuri 

(গ) 

Rudyard Kipling 

(ঘ) 

Walt Whitman 

     ক। E.M. Forster 

৩৮। 

       ত                হ                                    

    হ      ? 

(ক) 

১৯৭২, ক      

(খ) 

১৯৭৪,          

(গ) 
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১৯৭৫,   ল    

(ঘ) 

১৯৭৩,  ল        

     ঘ। ১৯৭৩,  ল        

৩৯। 

               ত            ম       ? 

(ক) 

   ,     ,    ,     ,           

(খ) 

    ,    ,     ,    ,             

(গ) 

   ,     ,    ,    ,            

(ঘ) 

   ,     ,    ,     ,             

     ঘ।    ,     ,    ,     ,             

৪০। 

       ২০২০        ত         -   ত                              

      ম   ত            ত হ ? 

(ক) 

৩   

(খ) 

৫    

(গ) 

৭    

(ঘ) 

৯    

     গ। ৭    

৪১। 
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logx1/9 = -2 হ   x    ম         ? 

(ক) 

3 

(খ) 

2 

(গ) 

1/3 

(ঘ) 

-1/3 

     ক। 3 

৪২। 

                                ত হ ? 

(ক) 

২০০০    ল 

(খ) 

২০০১    ল 

(গ) 

২০০৩    ল 

(ঘ) 

২০০৫    ল 

     ক। ২০০০    ল 

৪৩। 

'         '             - 

(ক) 

য             ক য  য 

(খ) 

য             ক য  য 

(গ) 
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 ল ক        -       

(ঘ) 

       গ          য    

     গ।  ল ক        -       

৪৪। 

       “Bretton Woods Institutions”          ? 

(ক) 

IDB 

(খ) 

IMF 

(গ) 

WTO 

(ঘ) 

ADB 

     খ। IMF 

৪৫। 

      ৩             ৫         ম          ম                   

      ৪        ম              ।          ত     ত        

  ত হ    ত           - 

(ক) 

৪.২৫% ল   

(খ) 

৫.২৫%     

(গ) 

৬.২৫%     

(ঘ) 

৭.২৫%ল   

     গ। ৬.২৫%     

৪৬। 
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   ত (       ২০২০)                                    

  ম        ম          হ ? 

(ক) 

     খ           

(খ) 

  গ    -ক     খ 

(গ) 

         

(ঘ) 

  ক           ল 

     খ।   গ    -ক     খ 

৪৭। 

            থ     ? 

(ক) 

               ক ? 

(খ) 

            খ       

(গ) 

           ক   ক   

(ঘ) 

  ক   

     খ।             খ       

৪৮। 

x2 - 3x - 10 > 0   মত    ম           ? 

(ক) 

(-∞, -1) U (4, +∞) 

(খ) 

(-∞, -2) U (5, +∞) 
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(গ) 

(∞, 2) U (5, +∞) 

(ঘ) 

(-5, -∞) U (∞, 2) 

     খ। (-∞, -2) U (5, +∞) 

৪৯। 

what is the meaning of musk? 

(ক) 

a form of drama 

(খ) 

a face cover 

(গ) 

a substance used in making perfume 

(ঘ) 

a disguise 

     গ। a substance used in making perfume 

৫০। 

secA + tanA = 3 হ   secA – tanA = ? 

(ক) 

1/2 

(খ) 

1/5 

(গ) 

2/5 

(ঘ) 

5/2 

     ঘ। 5/2 

৫১। 

                                       ? 

https://3hourbattle.com/sq/4468
https://3hourbattle.com/sq/4469
https://3hourbattle.com/sq/4470


(ক) 

   ল  

(খ) 

      

(গ) 

     

(ঘ) 

   ক 

     ঘ।    ক 

৫২। 

            থম   ম                   ? 

(ক) 

          ল  

(খ) 

               

(গ) 

         ল 

(ঘ) 

          

     গ।          ল 

৫৩। 

                         ত হ     ? 

(ক) 

               

(খ) 

              

(গ) 
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(ঘ) 

               

     ক।                

৫৪। 

    হ         ম হ                         "The Kyoto Protocol” 

   ত     ত     ত        হ ত হ ? 

(ক) 

১৯৯৭ 

(খ) 

১৯৯৯ 

(গ) 

২০০৩ 

(ঘ) 

২০০৫ 

     ক। ১৯৯৭ 

৫৫। 

মহ              ত     - 

(ক) 

       

(খ) 

       

(গ) 

     ল   

(ঘ) 

ল  ল       

     খ।        

৫৬। 

              '             ত   ? 

https://3hourbattle.com/sq/4473
https://3hourbattle.com/sq/4473
https://3hourbattle.com/sq/4474
https://3hourbattle.com/sq/4475


(ক) 

            খ   

(খ) 

    ল       

(গ) 

         ক 

(ঘ) 

      ক      

     ঘ।       ক      

৫৭। 

          ম        হম     ‘  ম          '  থম      ত হ   ত 

    ? 

(ক) 

২০১০ 

(খ) 

২০১১ 

(গ) 

২০১২ 

(ঘ) 

২০১৫ 

     গ। ২০১২ 

৫৮। 

              ম   ম       ? 

(ক) 

ক    ক-      

(খ) 

   -     খ 

(গ) 
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   -        

(ঘ) 

    -      

     ক। ক    ক-      

৫৯। 

                         ? 

(ক) 

Clemency 

(খ) 

Enthral 

(গ) 

Erudition 

(ঘ) 

Fathorn 

     ক। Clemency 

৬০। 

১  থ   ৪৯                     ত? 

(ক) 

২৫ 

(খ) 

৩০ 

(গ) 

৩৫ 

(ঘ) 

৪৯ 

     ক। ২৫ 

৬১। 
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       ম             ম               ৪২০     ।     ১        

১০%                   ৬ ম      ২০%         , ত হ   ১৮ ম      

           ত হ  ? 

(ক) 

৪৬০.২০   ক  

(খ) 

৫৫৪.৪০   ক  

(গ) 

৬২০.৬০   ক  

(ঘ) 

৭৩০.৮০   ক  

     খ। ৫৫৪.৪০   ক  

৬২। 

            ত ম        ত                 CVF-         ত    ? 

(ক) 

     ল   ল      

(খ) 

  ল    

(গ) 

       

(ঘ) 

       

     খ।   ল    

৬৩। 

Identify the correctly spelled one: 

(ক) 

Cesarean 

(খ) 

caesarean 
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(গ) 

ciserian 

(ঘ) 

scissorian 

     ক। Cesarean 

৬৪। 

   থ          (Schengen)           ত হ ? 

(ক) 

১৯৯৫    ল       ক  

(খ) 

১৯৯৫    ল       ক  

(গ) 

১৯৮৫    ল ল       গ   

(ঘ) 

১৯৯৬    ল          

     গ। ১৯৮৫    ল ল       গ   

৬৫। 

'Notification' -                        ? 

(ক) 

       

(খ) 

      

(গ) 

       লক 

(ঘ) 

      

     ঘ।       

৬৬। 
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        ম          ? 

(ক) 

     

(খ) 

  ল    

(গ) 

 খ     

(ঘ) 

     

     ক।      

৬৭। 

What is the function of a topic sentence? 

(ক) 

to introduce the topic 

(খ) 

to analyse the topic 

(গ) 

to present the main idea 

(ঘ) 

to expand the idea 

     গ। to present the main idea 

৬৮। 

             ম                         ? 

(ক) 

           ঘ   

(খ) 

কল  ল   

(গ) 
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(ঘ) 

  ল   

     ঘ।   ল   

৬৯। 

                 হ                        ম    ম   হ   

                        ত  ত হ  ? 

(ক) 

1:2 

(খ) 

5:2 

(গ) 

2:1 

(ঘ) 

4:1 

     ঘ। 4:1 

৭০। 

ম           ম        ম         ? 

(ক) 

              =         

(খ) 

      য     =         

(গ) 

ক            ক  ল= ক     ক  ল 

(ঘ) 

          =      

     ক।               =         

৭১। 

            ? 
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(ক) 

য    

(খ) 

      

(গ) 

   য  গ   

(ঘ) 

           

     ক। য    

৭২। 

Who wrote Dr. Zivago? 

(ক) 

Maxim Gorky 

(খ) 

Boris Pastornak 

(গ) 

Fyodor Dostoevsky 

(ঘ) 

Leo Tolstoy 

     খ। Boris Pastornak 

৭৩। 

Would you please find out Bangladesh ____ the map. 

(ক) 

in 

(খ) 

on 

(গ) 

over 

(ঘ) 
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at 

     খ। on 

৭৪। 

              ত             থ       ত                 ? 

(ক) 

         

(খ) 

ক     

(গ) 

  য              

(ঘ) 

     

     গ।   য              

৭৫। 

‘                  ’       থ        ত    হ   - 

(ক) 

      গ   

(খ) 

      ক 

(গ) 

      ল 

(ঘ) 

    ঋ    

     খ।       ক 

৭৬। 

Hasan has read most of the — of Shakespeare: 

(ক) 

poem 
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(খ) 

play 

(গ) 

drama 

(ঘ) 

works 

     ঘ। works 

৭৭। 

"For God's sake, hold your tongue and let me love" occurs in a novel by: 

(ক) 

Jane Austen 

(খ) 

Syed Waliullah 

(গ) 

Somerset Maugham 

(ঘ) 

Rabindranath Tagore 

        ক           য     

৭৮। 

                                       ত   - 

(ক) 

BARI 

(খ) 

BRRI 

(গ) 

BADC 

(ঘ) 

BINA 

     গ। BADC 
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৭৯। 

Complete the sentence: If I were you, I ____ take the money: 

(ক) 

shall 

(খ) 

will 

(গ) 

would 

(ঘ) 

may 

     গ। would 

৮০। 

                                     ম           ? 

(ক) 

         ল  

(খ) 

           

(গ) 

               

(ঘ) 

          ল 

     ক।          ল  

৮১। 

'       ম          '     ত  ম            - 

(ক) 

    -     

(খ) 

 কক     ক   
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(গ) 

          

(ঘ) 

  ক     ক    

     ক।     -     

৮২। 

‘    ’               ত- ত  - 

(ক) 

ক   +    

(খ) 

ক  +    

(গ) 

ক  +     

(ঘ) 

ক   +     

     ক। ক   +    

৮৩। 

Go and catch the falling star. Here the "falling" is- 

(ক) 

an adverb 

(খ) 

a preposition 

(গ) 

an adjective 

(ঘ) 

a verb 

     গ। an adjective 

৮৪। 
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               ৫১০                ২০           ৫০            

                         ।  ত       ত                      ? 

(ক) 

৩  ক    

(খ) 

৪  ক    

(গ) 

৬  ক    

(ঘ) 

৫  ক    

     ঘ। ৫  ক    

৮৫। 

                             হ  ? 

 

(ক) 

 

(খ) 

 

(গ) 

 

(ঘ) 
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     খ। 

৮৬। 

Fill in the gap with the correct form of verb: The police – informed 
yesterday: 

(ক) 

is 

(খ) 

are 

(গ) 

was 

(ঘ) 

were 

     ঘ। were 

৮৭। 

                 ত             হ     ? 

(ক) 

       গ 

(খ) 

                

(গ) 

               গ 

(ঘ) 

             

     ঘ।              

৮৮। 

"Giving someone the cold shoulder" means 
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(ক) 

to torture somebody 

(খ) 

to harm someone 

(গ) 

to appreciate someone 

(ঘ) 

to ignore somebody 

     ঘ। to ignore somebody 

৮৯। 

 ম              .                    ত          ত হ      

   - 

(ক) 

          

(খ) 

     ক      

(গ) 

য       

(ঘ) 

        

     ক।           

৯০। 

ম          হ          - ত        ত   ত  হ  ত      ত       - 

(ক) 

  ক      গ 

(খ) 

     

(গ) 

      

https://3hourbattle.com/sq/4508
https://3hourbattle.com/sq/4508
https://3hourbattle.com/sq/4509


(ঘ) 

    ক        

     ক।   ক      গ 

৯১। 

        হত   ম                      ? 

(ক) 

    ল  

(খ) 

গ   গ       

(গ) 

 য      

(ঘ) 

           

     গ।  য      

৯২। 

ম               ত        ত  ত হ ? 

(ক) 

১৯৯৬ 

(খ) 

১৯৯৮ 

(গ) 

২০০০ 

(ঘ) 

২০০৮ 

     ক। ১৯৯৬ 

৯৩। 

        ম                                          হ ত? 

(ক) 
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য      য 

(খ) 

য        

(গ) 

    

(ঘ) 

     

     গ।     

৯৪। 

“September on the Jessore Road” is written by: 

(ক) 

Madhusudan Dutt 

(খ) 

Allen Ginsberg 

(গ) 

Kaiser Huq 

(ঘ) 

Vikram Seth 

     খ। Allen Ginsberg 

৯৫। 

  হ          ত থ             ? 

(ক) 

     

(খ) 

     ক 

(গ) 

    লক 

(ঘ) 

  ক  ক 
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     খ।      ক 

৯৬। 

Liza had given me two: 

(ক) 

pair of jean 

(খ) 

pairs of jean 

(গ) 

pair of jeans 

(ঘ) 

pairs of jeans 

     ঘ। pairs of jeans 

৯৭। 

     ত                                 থম          ১৯৭২       

     ত           ত হ ? 

(ক) 

১১       

(খ) 

১২        

(গ) 

১৬        

(ঘ) 

৩       

     খ। ১২        

৯৮। 

   ত            ত থ             ? 

(ক) 

    ক  

(খ) 
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    ক  

(গ) 

      য 

(ঘ) 

   ল 

     ক।     ক  

৯৯। 

                              ? 15/A, G/21, 28/N, ?/? 

(ক) 

54/N 

(খ) 

T/18 

(গ) 

L/52 

(ঘ) 

V/36 

     ঘ। V/36 

১০০। 

                                  ত            ? 

(ক) 

৪ 

(খ) 

৮ 

(গ) 

১২ 

(ঘ) 

১৬ 

     ঘ। ১৬ 
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